

PRODUCT CATALOG



are manufactured and distributed by Nowpak, Inc. throughout North America. With offices in South San Francisco, CA, our company mission is to provide our customers with the latest and most innovative food packaging in the world. We strive to be a low cost producer but still maintain our high quality reputation. Our competitive pricing, combined with our excellent service, have made us a favorite to many in the food service industry.

micro

MICROWAVE SAFE, STACKABLE, REUSABLE, RECYCLABLE, COMBO PACKED FOR CONVENIENCE

Our 2-piece, heavy gauge, MicroNow is reusable and is offered in rectangular, square and round shapes with black or white bases and translucent lids. Available in one, two, and three compartment configurations. MicroNow containers are a great option for prepared foods or food to-go. They easily go from refrigeration to a microwave to a dishwasher!



MICROWAVE SAFE, STACKABLE, REUSABLE, RECYCLABLE, COMBO PACKED FOR CONVENIENCE

Our heavy gauge, DeliNow, containers are reusable and designed to hold everything from hot soup to rice and beans to nuts. DeliNow is virtually leak-proof and withstands high heat from microwaving. They stack great and the clear design allows for easy product identification. Available in combo packs with matching lids or bulk pack.



COMPOSTABLE, CUT RESISTANT, FREEZER SAFE, MICROWAVE SAFE

NatureNow: Our eco-friendly, heavy-duty, compostable NatureNow product line is made from bagasse sugarcane and bamboo, using only sustainable raw materials.

NatureNow Premium: We've added a corn based (still compostable) lamination (PLA) to the bottom of our bagasse containers. Great for very hot and saucy foods! NatureNow Premium adds that extra and secure moisture barrier to keep the container firm. Greatly improves heat and moisture tolerance. Simply the best performing compostable to-go container on the market!



PATENTED, STACKABLE, MICROWAVE SAFE, 4-SNAP RIM CLOSURE

Our eco-friendly and patented, Take-Out Now, hinged to-go containers are made from polypropylene and a natural mineral powder. The addition of this powder greatly reduces the amount of plastic polymer in the finished product and yet increases it's overall strength and rigidity. This hybrid material is microwave safe and can withstand high heat! An excellent 4-snap closure system. Never a worry about the lid popping open! It's simply the best to-go container on the market today!



MICROWAVE SAFE, STACKABLE, REUSABLE, DUAL FRONT SNAP LOCKS, HOT FOOD READY

New to our line of eco-friendly to-go containers is ValuNow. An economy version of our widely successful Take-Out Now. Great for hot food, ValuNow comes in 6 sizes. Looking for a multipurpose, eco-friendly, lower cost food to-go container? Try ValuNow!

TABLE OF CONTENTS

Product Line Overview	2
Table of Contents	3
MicroNow	4-7
DeliNow	8-9
NatureNow	10-12
NatureNow Premium	12
TakeOut Now	13-14
ValuNow	15



586 Eccles Avenue, South San Francisco, CA 94080 650.615.9828 650.615.9822

Sales@nowpak.com

www.nowpak.com

Choosing the Right Containers by Features













Microwave Safe			
Freezer Safe			
Stackable			
Reusable			
Dishwasher Safe (top shelf)			
Recyclable			
Compostable			

micro now

MICROWAVE SAFE, STACKABLE, REUSABLE, RECYCLABLE, COMBO PACKED FOR CONVENIENCE



BLACK ROUNDS



Product	ITEM#	Description	Size (Base)	Case Pack	Case Weight	Cube	Pallet TI/HI
	MN-616B	16 oz. Black Round Combo with Lid	6" x 1-1/2"	150 (3/50)	10.5 lbs.	1.18	14Lx6H (84 Cases)
	MN-724B	24 oz. Black Round Combo with Lid	7" x 1-5/8"	150 (3/50)	14 lbs.	1.55	10Lx5H (50 Cases)
	MN-732B	32 oz. Black Round Combo with Lid	7" x 2"	150 (3/50)	14.5 lbs.	1.64	10Lx5H (50 Cases)
	MN-740B	40 oz. Black Round Combo with Lid	7" x 2-5/8"	150 (3/50)	17.5 lbs.	1.8	10Lx5H (50 Cases)
	MN-948B	48 oz. Black Round Combo with Lid	9" x 1-3/4"	100 (2/50)	14 lbs.	1.59	10Lx5H (50 Cases)
	MN-9339B	39 oz. 3-Comp. Black Round Combo with Lid	9" x 1-3/4"	100 (2/50)	16 lbs.	1.66	10Lx5H (50 Cases)

WHITE ROUNDS



Product	ITEM#	Description	Size (Base)	Case Pack	Case Weight	Cube	Pallet TI/HI
	WMN-616	16 oz. White Round Combo with Lid	6" x 1-1/2"	150 (3/50)	10.5 lbs.	1.18	14Lx6H (84 Cases)
	WMN-724	24 oz. White Round Combo with Lid	7" x 1-5/8"	150 (3/50)	14 lbs.	1.55	10Lx5H (50 Cases)
	WMN-732	32 oz. White Round Combo with Lid	7" x 2"	150 (3/50)	14.5 lbs.	1.64	10Lx5H (50 Cases)
	WMN-948	48 oz. White Round Combo with Lid	9" x 1-3/4"	100 (2/50)	14 lbs.	1.59	10Lx5H (50 Cases)

BLACK SQUARES



Product	ITEM#	Description	Size (Base)	Case Pack	Case Weight	Cube	Pallet TI/HI
	MNSQ-36B	36 oz. Black Square Combo with Lid	6-1/2" x 6-1/2" x 2-1/4"	150 (3/50)	18 lbs.	1.78	12Lx4H (48 Cases)
	MNSQ-48B	48 oz. Black Square Combo with Lid	8-1/2" x 8-1/2"x 1-3/4"	150 (3/50)	28.5 lbs.	2.65	6Lx4H (24 Cases)
	MNSQ-348B	48 oz. 3-Comp. Black Square Combo with Lid	8-1/2" x 8-1/2" x 2"	100 (2/50)	23.5 lbs.	1.86	10Lx4H (40 Cases)

BLACK RECTANGLES



Product	ITEM#	Description	Size (Base)	Case Pack	Case Weight	Cube	Pallet TI/HI
	MN-6412B	12 oz. Black Rect. Combo with Lid	5-7/8" x 4-1/2" x 1-1/2"	150 (3/50)	9 lbs.	0.76	24Lx6H (144 Cases)
	MN-8516B	16 oz. Black Rect. Combo with Lid	7-3/4" x 5-1/4" x 1-1/4"	150 (3/50)	13 lbs.	1.3	15Lx5H (75 Cases)
	MN-8524B	24 oz. Black Rect. Combo with Lid	7-3/4" x 5-1/4" x 1-3/4"	150 (3/50)	14 lbs.	1.36	15Lx5H (75 Cases)
	MN-9626B	26 oz. Black Rect. Combo with Lid	9" x 6" x 1-3/8"	150 (3/50)	16.5 lbs.	1.63	10Lx5H (50 Cases)
	MN-9628B	28 oz. Black Rect. Combo with Lid	9" x 6" x 1-1/2"	150 (3/50)	17.5 lbs.	1.72	10Lx5H (50 Cases)
	MN-9632B	32 oz. Black Rect. Combo with Lid	9" x 6" x 1-3/4"	150 (3/50)	18 lbs.	1.7	10Lx5H (50 Cases)
	MN-9638B	38 oz. Black Rect. Combo with Lid	9" x 6" x 2"	150 (3/50)	18 lbs.	1.74	10Lx5H (50 Cases)
	MN-58B	58 oz. Black Rect. Combo with Lid	11" x 8" x 1-1/2"	100 (2/50)	19.5 lbs.	1.78	10Lx5H (50 Cases)
	MN-96322B	32 oz. 2-Comp. Black Rect. Combo with Lid	9" x 6" x 1-3/4"	150 (3/50)	17.5 lbs.	1.64	10Lx5H (50 Cases)

Product	ITEM#	Description	Size (Base)	Case Pack	Case Weight	Cube	Pallet TI/HI
	MN-332B	32 oz. 3-Comp. Black Rect. Combo with Lid	9-5/8" x 7-1/2" x 1-1/2"	150 (3/50)	25.5 lbs.	2.18	9Lx5H (45 Cases)

WHITE RECTANGLES



WMN-6412	24Lx6H (144 Cases)
WMN-8516	15Lx5H (75 Cases)
WMN-8524	15Lx5H (75 Cases)
WMN-9628 28 oz. White Rect. Combo with Lid 9" x 6" x 1-1/2" 150 (3/50) 17.5 lbs. 1.72	10Lx5H (50 Cases)
WMN-9632 32 oz. White Rect. Combo with Lid 9" x 6" x 1-3/4" 150 (3/50) 18 lbs. 1.7	10Lx5H (50 Cases)
WMN-9638 38 oz. White Rect. Combo with Lid 9" x 6" x 2" 150 (3/50) 18 lbs. 1.74	10Lx5H (50 Cases)
WMN-58	10Lx5H (50 Cases)
WMN-96322 32 oz. 2-Comp. 9" x 6" 150 (3/50) 17.5 lbs. 1.64	10Lx5H (50 Cases)
WMN-332 32 oz. 3-Comp. 9-5/8" x 7-1/2" 150 (3/50) 25.5 lbs. 2.18	9Lx5H (45 Cases)

deli now

MICROWAVE SAFE, STACKABLE, REUSABLE, RECYCLABLE, COMBO PACKED FOR CONVENIENCE



COMBO PACKS

Product	ITEM#	Description	Case Pack	Case Weight	Cube	Pallet TI/HI
	DN-08	8 oz. Deli / Soup Combo with Lid	250 (10/25)	13 lbs.	1.84	9Lx6H (54 Cases)
	DN-12	12 oz. Deli / Soup Combo with Lid	250 (10/25)	14 lbs.	1.9	9Lx6H (54 Cases)
	DN-16	16 oz. Deli / Soup Combo with Lid	250 (10/25)	16.5 lbs.	2.01	9Lx6H (54 Cases)
	DN-24	24 oz. Deli / Soup Combo with Lid	250 (10/25)	19.5 lbs.	2.5	9Lx5H (45 Cases)
The same and the s	DN-32	32 oz. Deli / Soup Combo with Lid	250 (10/25)	23.5 lbs.	2.78	9Lx4H (36 Cases)

VENTED LID COMBO PACKS

Product	ITEM#	Description	Case Pack	Case Weight	Cube	Pallet TI/HI
	VDN-08	8 oz. Deli / Soup Vented Lids Combo	250 (10/25)	12 lbs.	1.68	9Lx6H (54 Cases)
	VDN-12	12 oz. Deli / Soup Vented Lids Combo	250 (10/25)	14 lbs.	1.75	9Lx6H (54 Cases)
	VDN-16	16 oz. Deli / Soup Vented Lids Combo	250 (10/25)	15 lbs.	1.84	9Lx6H (54 Cases)
	VDN-24	24 oz. Deli / Soup Vented Lids Combo	250 (10/25)	18 lbs.	2.26	9Lx5H (45 Cases)
	VDN-32	32 oz. Deli / Soup Vented Lids Combo	250 (10/25)	22.5 lbs.	2.62	9Lx4H (36 Cases)
		BULK PACE	(S			

Product	ITEM#	Description	Case Pack	Case Weight	Cube	Pallet TI/HI
	BDN-8500	8 oz. Base Only	500 (10/50)	13.5 lbs.	1.63	9Lx6H (54 Cases)
	BDN-12500	12 oz. Base Only	500 (10/50)	19 lbs.	1.87	9Lx6H (54 Cases)
	BDN-16500	16 oz. Base Only	500 (10/50)	13 lbs.	2	9Lx6H (54 Cases)
	BDN-24500	24 oz. Base Only	500 (10/50)	15.5 lbs.	2.65	9Lx5H (45 Cases)
	BDN-32500	32 oz. Base Only	500 (10/50)	34.5 lbs.	3.17	9Lx4H (36 Cases)
	LDN-500	Lid Only	500 (10/50)	12 lbs.	1.49	9Lx6H (54 Cases)
						9



COMPOSTABLE, CUT RESISTANT, FREEZER SAFE, MICROWAVE SAFE, MADE FROM

SUSTAINABLE RAW MATERIALS



PLATES, BOWLS, PLATERS & TRAYS

Product	ITEM#	Description	Case Pack	Case Weight	Cube	Pallet TI/HI
	RNN-06	6" Heavy Molded Fiber Plate	1000 (8/125)	14 lbs.	1.09	12Lx7H (84 Cases)
	RNN-07	7" Heavy Molded Fiber Plate	1000 (8/125)	21 lbs.	1.33	12Lx6H (72 Cases)
	RNN-901	9" Heavy Molded Fiber Plate	500 (4/125)	17.5 lbs.	1.41	14Lx4H (56 Cases)
	RNN-903	9" 3-Compartment Heavy Molded Fiber Plate	500 (4/125)	18 lbs.	1.41	14Lx4H (56 Cases)
	RNN-101	10" Heavy Molded Fiber Plate	500 (4/125)	23.5 lbs.	1.93	12Lx4H (48 Cases)
	RNN-103	10" 3-Compartment Heavy Molded Fiber Plate	500 (4/125)	24 lbs.	1.93	12Lx4H (48 Cases)
	ONN-10	10-1/8" x 7-1/2" Oval Heavy Molded Fiber Plate	500 (4/125)	19.5 lbs.	1.29	10Lx5H (50 Cases)
	ONN-12	12-1/4" x 10" Oval Heavy Molded Fiber Plate	500 (4/125)	33 lbs.	2.26	9Lx4H (36 Cases)
	SQNN-06	6" Square Heavy Molded Fiber Plate	500 (4/125)	17 lbs.	0.72	21Lx4H (84 Cases)
	SQNN-08	8" Square Heavy Molded Fiber Plate	500 (4/125)	23 lbs.	0.93	9Lx5H (40 Cases)
	SQNN-10	10" Square Heavy Molded Fiber Plate	250 (2/125)	17.5 lbs.	0.93	12Lx6H (72 Cases)

Product	ITEM#	Description	Case Pack	Case Weight	Cube	Pallet TI/HI
E	TNN-05	5-Compartment Lunch Tray	500 (2/250)	28 lbs.	1.92	9Lx5H (45 Cases)
	TNN-06	6-Compartment Tray	250 (2/125)	22 lbs.	1.34	10Lx6H (60 Cases)
	BNN-08	8 oz. Heavy Molded Fiber Bowl/Yogurt Cup	1000 (8/125)	15 lbs.	1.27	9Lx9H (81 Cases)
	BNN-12	12 oz. Heavy Molded Fiber Bowl	1000 (8/125)	22 lbs.	1.8	7Lx6H (42 Cases)
	BNN-16	16 oz. Heavy Molded Fiber Bowl	1000 (8/125)	28.5 lbs.	2.34	6Lx6H (36 Cases)

HINGED LID CONTAINERS

Product	ITEM#	Description	Size	Case Pack	Case Weight	Cube	Pallet TI/HI
	NN-66	6" Hamburger Size Molded Fiber Hinged Lid	6" x 6" x 2-3/4"	500 (4/125)	25 lbs.	1.86	8Lx7H (56 Cases)
	NN-96	9"x6" Hoagie Size Molded Fiber Hinged Lid	9" x 6" x3"	250 (2/125)	17.5 lbs.	1.44	8Lx9H (72 Cases)
	NN-9602	9"x6" 2-Compartment Oblong Molded Fiber Hinged Lid	9" x 6" x 3"	250 (2/125)	20.5 lbs.	1.71	8Lx9H (72 Cases)
	SNN-81	Shallow 8" 1-Compartment Molded Fiber Hinged Lid	8" x 8" x 2-1/4"	200 (4/50)	16 lbs.	1.13	8Lx9H (72 Cases)
	SNN-83	Shallow 8" 3-Compartment Molded Fiber Hinged Lid	8" x 8" x 2-1/4"	200 (4/50)	16 lbs.	1.13	8Lx9H (72 Cases)
	NN-81	Deep 8" 1-Compartment Molded Fiber Hinged Lid	8-1/2" x 7-3/4" x 3"	200 (4/50)	18 lbs.	1.33	8Lx9H (72 Cases)
	NN-83	Deep 8" 3-Compartment Molded Fiber Hinged Lid	8-1/2" x 7-3/4" x 3"	200 (4/50)	18 lbs.	1.33	8Lx9H (72 Cases)
	NN-91	9" 1-Compartment Molded Fiber Hinged Lid	9" x 9" x 3"	200 (4/50)	21 lbs.	1.72	8Lx9H (72 Cases)
	NN-93	9" 3-Compartment Molded Fiber Hinged Lid	9" x 9" x 3"	200 (4/50)	21 lbs.	1.72	8Lx9H (72 Cases)
							11



Product	ITEM#	Description	Size	Case Pack	Case Weight	Cube	Pallet TI/HI
T. T	RECNN-28	28oz Natural Bagasse/ Bamboo Tray	9" x 6-1/8" x 1-1/2"	300 (4/75)	16 lbs.	1.79	6Lx8H (48 Cases)
	RECNN-38	38oz Natural Bagasse/ Bamboo Tray	9" x 6-1/8" x2"	300 (4/75)	17.5 lbs.	1.79	6Lx8H (48 Cases)
	RECNN- LID-PET	Clear PET Lid for 28oz and 38oz Natural Tray	9" x 6-1/8" x 1/2"	300 (4/75)	12 lbs.	1.86	7Lx7H (49 Cases)
	BNN-48	48oz Natural Bagasse/ Bamboo Bowl	8" x 3"	300 (4/75)	21 lbs.	1.46	6Lx8H (48 Cases)
	BNN-LID- PET	Clear PET Lid for 48oz Natural Bowl	8" x 1/2"				





Compostable Containers w/ Moisture Proof (PLA) Lining

COMPOSTABLE, CUT RESISTANT, FREEZER SAFE, MICROWAVE SAFE, MADE FROM SUSTAINABLE RAW MATERIALS											
Product	ITEM#	Description	Size	Case Pack	Case Weight	Cube	Pallet TI/HI				
	PLA-NN-81	Deep 8" 1-Compartment PLA Coated	8-1/2" x 7-3/4" x 3"	150 (3/50)	14 lbs.	1.03	8Lx9H (72 Cases)				
	PLA-NN-83	Deep 8" 3-Compartment PLA Coated	8-1/2" x 7-3/4" x 3"	150 (3/50)	14 lbs.	1.03	8Lx9H (72 Cases)				
	PLA-NN-91	9" 1-Compartment PLA Coated	9" x 9" x 3"	150 (3/50)	16 lbs.	1.18	8Lx9H (72 Cases)				
	PLA-NN-93	9" 3-Compartment PLA Coated	9" x 9" x 3"	150 (3/50)	16 lbs.	1.18	8Lx9H (72 Cases)				

take-out now

OUR ECO-FRIENDLY, PATENTED, MICROWAVE SAFE, STACKABLE, VIRTUALLY LEAK-PROOF, RECYCLABLE, 4-SNAP RIM CLOSURE

Made from a hybrid material of a natural mineral powder & polypropylene



Caca

Caca

١
١
V
ľ
1
T
S
Κ
Ν
ì
Į
/
Y
1

Product	ITEM#	Description	Size	Case Pack	Case Weight	Cube	Pallet TI/HI
	SKTN-81	8" White 1-Compartment Skinny	8-1/4" x 8" x 2-1/4"	200 (2/100)	20 lbs.	2.17	9Lx5H (45 Cases)
	SKTN-83	8" White 3-Compartment Skinny	8-1/4" x 8" x 2-1/4"	200 (2/100)	20 lbs.	2.17	9Lx5H (45 Cases)

WHITE SHALLOW

Product	ITEM#	Description	Size	Pack	Weight	Cube	TI/HI
	TN-81S	8" White 1-Compartment Shallow	8-1/4" x 8" x 2-1/2"	200 (2/100)	23 lbs.	2.31	9Lx5H (45 Cases)
	TN-83S	8" White 3-Com- partment Shallow	8-1/4" x 8" x 2-1/2"	200 (2/100)	23.5 lbs.	2.31	9Lx5H (45 Cases)

BLACK SHALLOW

Product	ITEM#	Description	Size	Case Pack	Case Weight	Cube	Pallet TI/HI
	TN-81SB	8" Black 1-Compartment Shallow	8-1/4" x 8" x 2-1/2"	200 (2/100)	23 lbs.	2.31	9Lx5H (45 Cases)
	TN-83SB	8" Black 3-Compartment Shallow	8-1/4" x 8" x 2-1/2"	200 (2/100)	25 lbs.	2.31	9Lx5H (45 Cases)

Dallat

WHITE REGULAR DEPTH

Product	ITEM#	Description	Size	Case Pack	Case Weight	Cube	Pallet TI/HI
	TN-66	6" White 1-Compartment	5-7/8" x 6" x 3"	400 (4/100)	22 lbs.	2.42	6Lx7H (42 Cases)
	TN-81	8" White 1-Compartment	8-1/4" x 8" x 2-3/4"	200 (2/100)	25 lbs.	2.31	9Lx5H (45 Cases)
	TN-83	8" White 3-Compartment	8-1/4" x 8" x 2-3/4"	200 (2/100)	25 lbs.	2.31	9Lx5H (45 Cases)
	TN-91	9" White 1-Compartment	9" x 8-1/2" x 2-3/4"	100 (1/100)	15 lbs.	1.41	8Lx9H (72 Cases)
	TN-93	9" White 3-Compartment	9" x 8-1/2" x 2-3/4"	100 (1/100)	15 lbs.	1.41	8Lx9H (72 Cases)
	TN-96	9" x 6" White Hoagie	8-3/4" x 6" x 2-3/4"	250 (2/125)	24 lbs.	2.31	6Lx7H (42 Cases)
		BLACK REGU	LAR DEPTH				
Product	ITEM#	Description	Size	Case Pack	Case Weight	Cube	Pallet TI/HI
Product	ITEM#	Description 6" Black 1-Compartment	Size 5-7/8" x 6" x 3"			Cube 2.42	
Product		6" Black	5-7/8" x 6"	Pack 400	Weight		TI/HI 6Lx7H (42
Product	TN-66B	6" Black 1-Compartment 8" Black	5-7/8" x 6" x 3" 8-1/4" x 8"	400 (4/100)	Weight 22 lbs.	2.42	TI/HI 6Lx7H (42 Cases) 9Lx5H (45
Product	TN-66B TN-81B	6" Black 1-Compartment 8" Black 1-Compartment	5-7/8" x 6" x 3" 8-1/4" x 8" x 2-3/4" 8-1/4" x 8"	400 (4/100) 200 (2/100)	Weight 22 lbs. 25 lbs.	2.42	TI/HI 6Lx7H (42 Cases) 9Lx5H (45 Cases) 9Lx5H (45
Product	TN-66B TN-81B TN-83B	6" Black 1-Compartment 8" Black 1-Compartment 8" Black 3-Compartment	5-7/8" x 6" x 3" 8-1/4" x 8" x 2-3/4" 8-1/4" x 8" x 2-3/4"	900 (2/100) 200 (2/100)	Weight 22 lbs. 25 lbs.	2.42 2.31 2.31	TI/HI 6Lx7H (42 Cases) 9Lx5H (45 Cases) 9Lx5H (45 Cases) 8Lx9H (72
Product	TN-66B TN-81B TN-83B TN-91B	6" Black 1-Compartment 8" Black 1-Compartment 8" Black 3-Compartment 9" Black 1-Compartment	5-7/8" x 6" x 3" 8-1/4" x 8" x 2-3/4" 8-1/4" x 8" x 2-3/4" 9" x 8-1/2" x 2-3/4"	400 (4/100) 200 (2/100) 200 (2/100) 100 (1/100)	22 lbs. 25 lbs. 25 lbs.	2.42 2.31 2.31	TI/HI 6Lx7H (42 Cases) 9Lx5H (45 Cases) 9Lx5H (45 Cases) 8Lx9H (72 Cases)



MICROWAVE SAFE, STACKABLE, RECYCLABLE, DUAL FRONT SNAP LOCKS, HOT FOOD READY, ECO-FRIENDLY



SHALLOW											
Product	ITEM#	Description	Size	Case Pack	Case Weight	Cube	Pallet TI/HI				
	VN-81-S	8" White 1-Compartment Shallow	8-1/4" x 8" x 2-1/4"	150 (2/75)	15 lbs.	1.66	9Lx5H (45 Cases)				
	VN-83-S	8" White 3-Compartment Shallow	8-1/4" x 8" x 2-1/4"	150 (2/75)	15 lbs.	1.69	9Lx5H (45 Cases)				
		REGULAR	DEPTH								
Product	ITEM#	Description	Size	Case Pack	Case Weight	Cube	Pallet TI/HI				
8	VN-66	6" White 1-Compartment	5-7/8" x 6" x 2-3/4"	320 (4/80)	17 lbs.	1.93	6Lx7H (42 Cases)				
	VN-81	8" White 1-Compartment	8-1/4" x 8" x 2-3/4"	150 (2/75)	17 lbs.	1.79	9Lx5H (45 Cases)				
	VN-83	8" White 3-Compartment	8-1/4" x 8" x 2-3/4"	150 (2/75)	17.5 lbs.	1.79	9Lx5H (45 Cases)				
	VN-91	9" White 1-Compartment	9" x 8-1/2" x 2-3/4"	100 (1/100)	14 lbs.	1.37	8Lx9H (72 Cases)				
	VN-93	9" White 3-Compartment	9" x 8-1/2" x 2-3/4"	100 (1/100)	14 lbs.	1.37	8Lx9H (72 Cases)				
	VN-96	9" x 6" White Hoagie	8-3/4" x 6" x 2-3/4"	150 (2/75)	13 lbs.	1.49	6Lx7H (42 Cases)				















586 Eccles Avenue, South San Francisco, CA 94080



650.615.9828



650.615.9822





www.nowpak.com